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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 8,001 2) 1,002 3 6,002 4 8,007
-2,301 - 157 -1,156 -_3,440 5
3.
4.
5 9,002 6 9,001 7 6,004 8 7,002 >
- 5,461 -7,205 -4, 547 —_3,285 5
7.
8.
9 6,007 10) 3,004 11) 4,009 12) 8,004 9.
-2,751 -1,188 -2,720 -4 254
—_— —_— — — 10.
11.
12.
13) 6,002 14) 6,003 15) 8,005 16) 1,004 13.
- 905 -4,859 -5,760 - 72
S S S o 14.
15.
16.
17) 4,005 18) 1,008 19) 7,003 200 5004 17
- 433 - 103 -6,316 —_3,811
18.
10.
20.
1-10 [95]90[85]80[75]70]65[60] 5550
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 5,700
1) 8.001 2 1,002 3 6,002 4 8,007
-2.301 - 157 -1,156 - 3,440 , 845
5,700 845 4.846 4,567
3 4,846
4 4,567
5 9,002 6) 9,001 7 6,004 8 7,002 > 3,541
-5,461 - 7,205 -4,547 -3,285 6 1796
3,541 1,796 1,457 3,717
- 1,457
8 3,717
9 6,007 100 3.004 1)  4.009 12)  8.004 o. _ 3,256
-2.751 -1,188 -2.720 - 4,254 o 1816
3,256 1,816 1,289 3,750
1. 1,289
2 3,750
13) 6,002 14) 6.003 15 8.005 16) 1,004 13 5,097
- 905 - 4,859 -5.760 - 72
5 097 1.144 2 245 932 e 1,144
5 2,245
16. 932
17) 4,005 18) 1,008 19 7,003 200 5,004 7 3572
- 433 - 103 - 6,316 - 3,811
3,572 905 687 1,193 18, 905
1. 687
20 1,193
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
3,256 3,541 4,846 1,289
4,567 1,816 1,796 5,700 1.
3,717 1,457 845 3,750
2.
1) 8,001 2) 1,002 3 6,002 3.
- 2,301 - 157 -1,156
- - - 4.
5.
6.
7.
4 8,007 5 9,002 6) 9,001
- 3,440 - 5,461 - 7,205 8.
9.
10.
11.
) 6,004 8 7,002 9 6,007 12
- 4,547 - 3,285 -2,751
100 3,004 11) 4,009 12) 8,004
-1,188 -2,720 -4,254
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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